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Question Bank: 12,655 Questions @

Primary 6 Science » Primary 6 Science (Term 2)

For each question, four options are given. One of them is the correct answer. Indicate your
choice of the answer below. (56 marks)

Siliely the disgram below,
A wiles J B J
taken in takan in ./ﬂhﬂﬂ i
1r_._-_‘_‘_
pholosynibesis
: = ralgases
= c
sLga

axcess shored as

o

Which one of the lollcwing cormectly represants subsiances A, B, C and D'in the diagram?

A |a B c D
light energy | oxygen | carbon dioxide | starch

B. |a B c D
heat energy | carbon dioxide | oxygen | sugar

C. |a B c D
heat energy | oxygen | carbon dioxide | sugar
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v’ D.

A

B Cc D

light energy

carbon dioxide | oxygen | starch

[x]

Question Type:
Randomize Answers: No
Date Added:

Last Modified:
QID#:

Multiple Choice

Sat 2nd Oct 2021
N/A
29,206,034

Question 2

e 2 Jon [ 2 ]

il

Ly

Which of the faliowing comeclly identifies the parts of the plant?

A lw X Y z
Flower | Roots | Leaves | Fruit

B. |w X Y |z
Leaves | Flower | Fruit | Roots

Ve lw o |x |y z

Roots | Fruit | Flower | Leaves

D. lw |x Y z
Roots | Flower | Leaves | Fruit

QID#:

Question Type:
Randomize Answers:
Date Added:

Last Modified:

Question 3

Multiple Choice
No

Sat 2nd Oct 2021
N/A

29,206,041
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Tha diagram beleew shows how Tood and walsr ang ansported o different parts of a
ficwsaring plant

H

mr——‘-
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A. AandDonly

¥ B. BandConly
C. B,CandDonly
D. A/B,CandD

Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Question 4
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The diagram below shows tha human digestive system.

Muiltiple Choice
No

Sat 2nd Oct 2021
N/A

29,206,045

https://www.classmarker.com/a//tests/test/?test_id=1826724

Which of the lollowing statements about the digestive system are correct?

Digestion bagins al part Q.

Paris P and R contain digesiive juices.
Waler is absorbed from the undigested food atparl T.
Undigesied food is absorbed into the bloadslream at part 5.
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da mmnmmhal‘&hﬂm
Vst plaoed & pot of plant n 3 dat oom e % S, M, B Cobon cienida on

mﬂm Bl o,

Ealow,

elenal of fodine sclution |
aflar starch beal |

Biasad only on the resulls abous, witch of thi fodoed g stabemenls & uef

A. Liquid S had produced oxygen in the plastic bag.
B. Liquid T had produced oxygen in the plastic bag.
v C. Liquid S had removed carbon dioxide from the plastic bag.

D. Liquid T had removed carbon dioxide from the plastic bag.

4%

e i:a"'

lamg -

Ha prepared four siniter sel-ups with different distancas, o fram plant A Ho measuned and
rectded the amount of axygen coffecied In the tesl lube for each solup. Based on the
expevimiend abavn, which ans of b following grapha shows iha most loehy esull?
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~ Amount of oxygen
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~ Amount of oxygen
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Amount of oxygen
(units)
7 4 6 8 dlem

Question Type: Multiple Choice

Randomize Answers: No

Date Added: Sat 2nd Oct 2021

Last Modified: N/A

QID#: 29,206,054
Question 6 Primary 6 Science » Primary 6 Science (Term 2) 2 pts
Which of the following get(s) its/their energy directly from the sun?
A Fern

B Grass

C Mould

D Mushroom
A. Bonly

v B. AandBonly

C. AandDonly

D. CandD only

Question Type: Multiple Choice

Randomize Answers: No

Date Added: Sat 2nd Oct 2021

Last Modified: N/A

QID#: 29,206,059
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Molly placed 4 idantical plarts, A, B, C and D, under dilfarent conditions. Shir then lested the
leavas of e plants Tae starch afler 4 days and reconded tha reulls as shown in the Lable

balow.
| Plant | _Forfiliser addod | Prosance of ight | Pressnce of starch
A yes o prasent
e e na absant
[ no O presant
o [ no - —

Question Type:

Date Added:
Last Modified:
QID#:

oOoOmx

A. AandBonly
v B. BandC only

C. CandDonly

Question Type:

Muiltiple Choice

Randomize Answers: No
Sat 2nd Oct 2021

N/A
29,206,068

Question 8

Based only on the resulls shoen above, whal can Mol conclisde?

v A Light is needed for photosynthesis to take place.
B. Fertiliser is needed for photosynthesis to take place.
C. Light and fertiliser are needed for photosynthesis to take place.

D. Light and fertiliser are not needed for photosynthesis to take place.

Primary 6 Science » Primary 6 Science (Term 2)

The l:I'E.ger below represents tha water cycle.

Cload
process ¥ process £
l Water vapour Rain
plocess X

D. A, B,CandD

Multiple Choice

Walor bodies

Which of ihe following stalements aboul tha water cycle ara corect?

Process X can only laka place at 100°C,

Process X occurs when waler gains heal.

There b5 no change in slate during process £,

Process Y can only taka place when thers is no lemperature diference.
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Randomize Answers: No

Randomize Answers: No

Question 9

Date Added: Sat 2nd Oct 2021
Last Modified: N/A
QID#: 29,206,071
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Primary 6 Science » Primary 6 Science (Term 2)

Tim 56l up & xpedmont as shown below, He st up four baakers N @ dasansom of
tamparatre 26*C far 30 minutes and obsarved waler dropkls on some el he beakers,

Which ong of (he follmirg shows Se sarec arder of tanperalures of the four beskers ol
wadar, from {he kowest bo the highest?

Lowest Temperature

Highest Temperature

Y

z

Lowest Temperature

Highest Temperature

z

W

Lowest Temperature

Highest Temperature

W

z

Lowest Temperature

Highest Temperature

W

z

Question 10

Muiltiple Choice

Date Added: Sat 2nd Oct 2021
Last Modified: N/A
QID#: 29,206,083

Which of the following ways help to conserve water?

A Collecting rainwater to water the plants.
B Turning off the taps when they are not in use.
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Primary 6 Science » Primary 6 Science (Term 2)

2 pts

2 pts

8/53


https://www.classmarker.com/a/tests/qb/manage/?test_id=1826724&question_id=29206071
https://www.classmarker.com/a/tests/qb/manage/?test_id=1826724&question_id=29206071&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1826724
https://0cm.classmarker.com/10070943_YCPDVL1X.jpg
https://www.classmarker.com/a/tests/qb/manage/?test_id=1826724&question_id=29206083
https://www.classmarker.com/a/tests/qb/manage/?test_id=1826724&question_id=29206083&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1826724

10/31/21, 1:26 PM ClassMarker - Manage Test

C Installing solar panels on the roof of the house.
D Switching off the air-conditioner when not in use.

v A. AandBonly
B. CandD only

C. A,BandD only

D. A, CandD only

Question Type: Multiple Choice

Randomize Answers: No

Date Added: Sat 2nd Oct 2021

Last Modified: N/A

QID#: 29,206,090
Question 11 Primary 6 Science » Primary 6 Science (Term 2) 2 pts

Which of the following statements about evaporation and boiling of liquids are correct?

A Both can take place in the dark.

B Both occur at a fixed temperature.

C Both involve the same change in states of matter.

D Both require heat gain of the liquids from the surroundings.

A. AandBonly
B. BandConly

C. CandD only

v ' D. A, CandDonly

Question Type: Muiltiple Choice

Randomize Answers: No

Date Added: Sat 2nd Oct 2021

Last Modified: N/A

QID#: 29,206,099
Question 12 Primary 6 Science » Primary 6 Science (Term 2) 2 pts
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Cathy placed @ thesmomnater in a beakar of beiling wabar, Afber soma Gime, she placed e
hﬂ;ﬂﬁpﬂh!mﬂhﬂmfmmrmn'cam recorded the change in lemperatuse of o water in
graph balow,

{"c)

100

1 'u b

M N Time {min)
Basnd on tha graph abow, which of tha fallowing statements are frug?
Waler lost heat from poind K ia paind L

I can b absenied in tha beaker st painl M,

The beskor wan placed in the freazer st point J
Mo avapodation aéeured from poind L fo point M.

=Rl

A. Bonly
¥ B. AandBonly
C. CandDonly

D. A, B,CandD

PNMHeD Sy up HI SXPENMBM A5 8hown in [ 0 b TETRT ER

gl
— e

FFHDFI ‘ Flw‘ 2

He placed cliject A on the weighing scaie and resorded the reading, A bar magnet
mmlmrqﬂaﬂﬂtdhummdhummmm.mmtdn:a?amm
Band C. Otfects A, B and C are made of diiaren manterials, '

Ha rasulls e shoram in b labio balkow)

Reading en Figura 1 Flgura 2
‘weighing scale (g)

Dbject A 120 115

| Object B o | 350
ﬂhhptl: 1.5 14.4

Based on Ahma's resulls abowe, which of the Tollawing ane iy 1o be obiects A, B snd 7

https://www.classmarker.com/a//tests/test/?test_id=1826724

Question Type: Muiltiple Choice

Randomize Answers: No

Date Added: Sat 2nd Oct 2021

Last Modified: N/A

QID#: 29,206,102
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A.

D
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Object A [Object B | Object C
steel block [ magnet |wooden block
Object A Object B | Object C
wooden block | steel block | magnet
Object A [Object B Object C
steel block | wooden block | magnet
Object A | Object B Object C
magnet |[wooden block | steel block

Question Type:
Randomize Answers: No

ate Added:

Last Modified:
QID#:

Multiple Choice

Sat 2nd Oct 2021
N/A
29,206,114

Question 14
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Primary 6 Science » Primary 6 Science (Term 2)

« Tha sat-up Ealow show |ight from & terch shinlng on three solid abjacis of the sama

height but made of ditferant materiaks. Al Ehree objects are placed in a straight line
al poaitions X, ¥ and Z.

The diagram holow shows the ehadow [ormed on the sein,

¥hich ol 1he follcwing would sfirw he shadow abovwe 1o ba Semed?

wood [ wood | metal

X

Y z

tracing paper | metal | clear glass

X

Y z

clear glass

wood | metal

https://www.classmarker.com/a//tests/test/?test_id=1826724
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D. [x |y z

metal | tracing paper [ wood

Question Type: Multiple Choice
Randomize Answers: No
Date Added: Sat 2nd Oct 2021
Last Modified: N/A
QID#: 29,206,127
Question 15 Primary 6 Science » Primary 6 Science (Term 2) 2 pts

The talve below sheas the stale of substances W, X, ¥ and 2 al diffarant temperaiures.

| Substance o State of subatance
B5°C 85°C

w g liquid gas
x ligudd a5 Gas
4 solid solid solid
z frquid liquid . figuid

Which of the fallowing statements about the subslances ara comecl?

A Subsfanca W is a liguid at 40°C,

8  Substance Y has B kowes! malling point.

g Substance Z has the highast freezing point.

Substante X has & kwer boding point than substance W.

A. AandConly
v B. AandD only

C. BandConly

A, B,CandD
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Sat 2nd Oct 2021
Last Modified: N/A
QID#: 29,206,133
Question 16 Primary 6 Science » Primary 6 Science (Term 2) 2 pts
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Jun ‘Wi eovared a ramp with matesial P acd released o woatan ook fram tha lop the mmp
Hea then measured, d, the dstance thad the wooden Hock afid acrss the floor before cofming
by @ 8lop, a5 shown in the diagram bolow,

Hi raposted (o exparment wilh three other mateists, 0 B apd S i
aaparnand is shown i P tahie below, y VN T

[ Mbatorie 3 a [ R 5 "

|ﬂ:li'|'j 1) T ¥ x

Based on [he resulls of Jun We's axporimant, which matersl P Q R i
| » PO, Roor 5, is the mosl
BLitable fo be used for making part 'Y of the anti-sfp sacks ae shown in e diagram bekowT

g
v A P
. Q
C. R
. S
Question Type: Muiltiple Choice
Randomize Answers: No
Date Added: Sat 2nd Oct 2021
Last Modified: N/A
QID#: 29,206,135
Question 17 Primary 6 Science » Primary 6 Science (Term 2) 2 pts

Raxvi hung a weighing pan from & apring as shown in the dlagram below.

} langity af spring maasurad
— waighing pan
He placed identical martles o the weighing pan, ana ol a fima, and measuned Bhe lenglh of

the spring,
Which ene of ha Inliewing graphs mes ely shows the resuits of Ravi‘s expeiment?
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Length of
spring (cm)

3

10

8
]
4
2

» Number of
8 1 2 3 4 5 marbles

Length of
spring (cm)

10
a
B
4
2

« Number of
0 1 2 3 "4 5 marbles
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Length of
spring (cm)

0 | .

8
0 /
4
2

D.
Length of
spring (cm)
10
8
q
6
4
P
0 1 2 3 4 5
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Sat 2nd Oct 2021
Last Modified: N/A
QID#: 29,206,141

Question 18
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— Number of
0 1 2 3 4 5 marbles

Number of
marbles
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£l Lo refeased a loy parachuls from the air as shesn in e disgram bakow,

L

plastic parachuta
string
plastia \ny sakdier

Magmatic fanss
Frictional force
Gravilational force:
Elastic spring force

=R o BB

v A. BandC only
B. BandD only
C. A,BandConly
D. A, CandD only

i

il A0~ EI[
P P F)}] —®®
@ i g
~G0-(D

vV A WX2ZY

B. X,W,Y,Z

C. X,ZY,W

D. Z Y, X, W
Question Type: Muiltiple Choice
Randomize Answers: No
Date Added: Sat 2nd Oct 2021
Last Modified: N/A
QID#: 29,206,152
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which of tha foliosing forcos o presant a3 tha loy parachana fafs siowdy Swough e ak?

Question Type: Multiple Choice

Randomize Answers: No

Date Added: Sat 2nd Oct 2021

Last Modified: N/A

QID#: 29,206,146

Question 19 Primary 6 Science » Primary 6 Science (Term 2)

Siudy the four circut disgrams below, Al tha balterias and Bulbs. used ane identical.

Sed-up W Sat-up X Bulup Y Suet-up L
Armanga tha sal-ups basad on the brightress ol bulb P, rom e eighlest i e leas bright

2 pts
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Question 20 Primary 6 Science » Primary 6 Science (Term 2) 2 pts

The diggram below shows a clreult diagram with two gaps, P and Q.

e —
_:—IP*_'_

® = [

—rut—

4 wisan dfferant matosials are used ko

Vhich cra of mhlh“ﬁ:g ptm'ﬂmﬁ! ks oome
eannact gaps P and Q In the circuit?

A |p Q Observations

aluminium | glass | The bulb lit up and the buzzer sounded.

v B. P |Q Observations

iron |wood | The bulb lit up but the buzzer did not sound.

C. Ip Q Observations

rubber | plastic | The bulb did not light up but the buzzer sounded.

D. |p Q Observations

steel [ copper | The bulb did not light up and the buzzer did not sound.

Question Type: Multiple Choice

Randomize Answers: No

Date Added: Sat 2nd Oct 2021

Last Modified: N/A

QID#: 29,206,171
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Sitiadty he circuil diaceam balow, BY, B2 and B3 e bulbs. 51, 52 and 53 are swilches,

=

B2

al

B1

ad

53
B3

Wtich ol ihe fofkraimg statements sbol e crout above In'sm cores?

A1 wil lighl up B either B2 or B ane lighied

Wheen caly 52 2nd 53 are dossd, B2 and BS wil ligh) 1o,
mﬂliﬂﬂ'mﬂ“mmamﬁzfumhmgtm|'|ﬁmm
HE1Mﬂnﬂﬁﬂfhﬂ-ﬂ“r‘hulmuﬂllﬂhlupmmqum .ll A eep—

BIDoT

A. Ponly
v B. PandS only
C. QandRonly

D. Q,RandSonly

Question Type: Multiple Choice

Randomize Answers: No

Date Added: Sat 2nd Oct 2021

Last Modified: N/A

QID#: 29,206,180
Qu estion 22 Primary 6 Science » Primary 6 Science (Term 2) 2 pts

Which of the following show(s) unsafe use of electricity?

A Putting in many plugs into one socket

B Using electrical appliances with exposed wires

C Handling electrical appliances using wet hands

D Getting an electrician to repair damaged electrical appliances

>

D only
A and C only
v ' C. ABandC only

D. B, CandD only

Question Type: Multiple Choice
Randomize Answers: No

Date Added: Sat 2nd Oct 2021
Last Modified: N/A

QID#: 29,206,189
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Question 23

Which of the following statements about energy is/are true?

Energy is needed by animals only.
Energy can exist in different forms.
Energy is not needed during sleeping.

O w >

A. Bonly

v B. AandC only
C. BandConly
D. A,BandC

Question Type: Multiple Choice
Randomize Answers: No

Date Added: Sat 2nd Oct 2021
Last Modified: N/A

QID#: 29,206,198

Question 24

Sliidy tho it disgram baiow.

i
n!d

burzor '_ﬂf“"_,.ﬂ—-_
22

&

olasad?

A. Electrical energy ----- > Sound energy
Potential energy ------ > Electrical energy ------ > Sound energy
C. Electrical energy ------- > Light energy + Sound energy

v' D. Potential energy ------ > Electrical energy ------ > Light energy

Question Type: Multiple Choice
Randomize Answers: No

Date Added: Sat 2nd Oct 2021
Last Modified: N/A
QID#: 29,206,207
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Sam made a loy as show below, Ha stretchad the slastic band backward and
releazed It lor the ball to be thrown forward.

|
w alashic band

Yhich of the Eslowing changas, whan made logemar, will allow tha bl to iravel the furthes|
distanca?
& Using a fighter bal

B Strelchirg the ot hand kithar
C  Using less foroe o pull fe elastic band

v A. Aand B only
A and C only
C. BandConly

A,BandC
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Sat 2nd Oct 2021
Last Modified: N/A
QID#: 29,206,213
Question 26 Primary 6 Science » Primary 6 Science (Term 2)

M2 Lim aoreloeted an axparimens as shown bulg-.-.-. Sha cropped @ ball al point A, The closs
obaemved that sach fene the Ball hil tha ground, it baanced up 1o a lower height until it finaky
stopped al poind F

Tha class mode Bha fofowing canclusions baded on Ihe expadment
‘Whizh of #he fellowing is cormsce?

A. The ball has no kinetic energy at D.
v B. The ball has the most potential energy at A.
C. The ball has less kinetic energy at B than at F.

The ball has the same amount of potential energy at C and E.

https://www.classmarker.com/a//tests/test/?test_id=1826724
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Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Question 27

ClassMarker - Manage Test

Multiple Choice
No

Sat 2nd Oct 2021
N/A

29,206,221

Primary 6 Science » Primary 6 Science (Term 2)

A ball is bed o a maching 35 shawn in the diagram below, When Tom swings the ball. khi
the oy bulding which Ben fallstoudly POT T RS r

oall

maching —

- btk

Wirich aing of the fallowing shews [ correct anergy corverskang Invahead?

A. Before releasing ball

Ball swinging Building falling

Kinetic energy (ball) ----- > Kinetic energy (ball) ------- > Sound energy (toy building)

Potential energy (ball) ----- > Kinetic energy (ball) ------ > Sound energy (toy building)

C. Potential energy (ball) ----- > Kinetic energy (ball) ----- > Light energy (toy building)

Kinetic energy (ball) ------ > Potential energy (ball) ------ > Light energy (toy building)

Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Question 28

Muiltiple Choice
No

Sat 2nd Oct 2021
N/A

29,206,241
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bai

Tha diagrarm below shows Adam vwith his bat snd bassbail

Based onihe dagram above wikch of tre felfowing bes
possessad by tha bat and thi hase :

Bat Baseball

kinetic energy | kinetic energy

Bat Baseball

kinetic energy | potential energy

Bat

Baseball

potential energy

kinetic energy

Bat

Baseball

potential energy

potential energy

Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Question 29

Multiple Choice
No

Sat 2nd Oct 2021
N/A

29,206,249

ClassMarker - Manage Test

Dasaball

| meprenenis the bepg of anar
bl bedfore Adam swings his bal it
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Sean carried out an experiment o find out how the amount of light shining on a
pkant affocts the amount of waler il takes in

The diagram below shows the set-ups of his experiment,

pian pam
il o
e B " AT

Sulup B

AT

Set-up C

Ha lefi iha sab-upa in the =ama ream and recorded 1ha amaunt of watar left In each beaker

niter four days
= Sotup A | SetupB Zat-up ©
Amound of waler st tho start -
of the o mt{me) ki 200
Agreount of water at tha ond
‘ﬂr.,_lp.ﬂ.,-“ {miE] 150 TH4 |

What was the purpose of adding oil to the beaker of water in each set-up? (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child

to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was

designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Sat 2nd Oct 2021
Last Modified: N/A

QID#: 29,206,487

Correctly answered feedback

To prevent water from evaporating so that the decrease in the amount of water is only due to the
plant taking it in.

Incorrectly answered feedback

To prevent water from evaporating so that the decrease in the amount of water is only due to the
plant taking it in.

Question 30

https://www.classmarker.com/a//tests/test/?test_id=1826724

Primary 6 Science » Primary 6 Science (Term 2)

0 pts
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Sean carried out an experiment o find out how the amount of light shining on a
pkant affocts the amount of waler il takes in

The diagram below shows the set-ups of his experiment,

pian pam
il o
e B " AT

Sulup B

AT

Set-up C

Ha lefi iha sab-upa in the =ama ream and recorded 1ha amaunt of watar left In each beaker

niter four days
= Sotup A | SetupB Zat-up ©
Amound of waler st tho start -
of the o mt{me) ki 200
Agreount of water at tha ond
‘ﬂr.,_lp.ﬂ.,-“ {miE] 150 TH4 |

Explain why set-up C has the least amount of water left after 4 days. (2 marks)

This question is designed for extended answers that parent/ teacher will have to assign and guide child

to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was

designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Sat 2nd Oct 2021
Last Modified: N/A

QID#: 29,206,501

Correctly answered feedback

As set-up C had the most amount of light, it carried out the most photosynthesis, so it needed the
most amount of water to do so, so it had the least amount of water left after 4 days.

Incorrectly answered feedback

As set-up C had the most amount of light, it carried out the most photosynthesis, so it needed the
most amount of water to do so, so it had the least amount of water left after 4 days.

Question 31

https://www.classmarker.com/a//tests/test/?test_id=1826724

Primary 6 Science » Primary 6 Science (Term 2)
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Sean carried out an experiment to find out how the amount of light &hining on a
pkant affocts the amount of waler il takes in

The diagram below shows the set-ups of hiz exparimaent,

piam pam

ol o

walaf Wtar
Sut-up B Bet-up C

Ha lefi iha sab-upa in the =ama ream and recorded 1ha amaunt of watar left In each beaker

niter four days.

= Sotup A | SetupB Zat-up ©
Amounl of waler ot tho siart -
of nt{me) i s
Agreount of water at tha ond
of thi oxporimant (mE] 159 T84 i

Sean then covared each sel-up with a bax and placed a sensor bo measur tha amound of
axygen relansed by aach planl

The graph bedew shows the resuls for e amoun! of ooygen released lor setup G

Ameunt of
axygen
produced
[t}

= Tims {heirs)

In the graph above, draw and label the results for set-ups A and B. (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Sat 2nd Oct 2021
Last Modified: N/A
QID#: 29,206,550

Correctly answered feedback

https://www.classmarker.com/a//tests/test/?test_id=1826724
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£
Amount of
XY gEn
produced
(units)
e R S Sat-up G
& Tima (hours)
Incorrectly answered feedback
E Y
Amount of
CEYgEn
produced
(units)
NS Sat-up C
& Tima (hours)
Qu estion 32 Primary 6 Science » Primary 6 Science (Term 2) 0 pts
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Jim conducied an experdment 1o find cul how tha size of food afectad how fast the food ie

oshod. Ha dmmaathﬂmﬁuﬂmm-upi.ﬁumdﬁ,nﬂmnm.ﬁn
ﬁﬂumﬁmmmmﬂmﬂamumrﬁsﬂ-mﬂ,mmmp{ﬂdlﬁl

meat inkg equal volume of digesfve juice X, a3 shown in tha dagram belaw,

digastive juics X

Bat-up P Set-up Q

Aftar 20 miraies, he recorded the msulls in v s below.

Total mass of maat {g)
VR (R he start of the '
Afer 30 minubes
L i T
P 102 o2
] L iy
R 1) i 7

What should Jim do to ensure that his experiment is a fair test? (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Sat 2nd Oct 2021
Last Modified: N/A
QID#: 29,206,562

Correctly answered feedback

Jim should make the amount of meat at first the same and change only the exposed surface area
of food.

Incorrectly answered feedback

Jim should make the amount of meat at first the same and change only the exposed surface area
of food.

Question 33 Primary 6 Science » Primary 6 Science (Term 2)
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digastive juics X

Bat-up P Set-up Q

Aftar 20 miraies, he recorded the msulls in v s below.

Explain how digestive juices helps in the digestion process. (1 mark)

to attempt after the test has been completed.

designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Sat 2nd Oct 2021
Last Modified: N/A
QID#: 29,206,569

Correctly answered feedback

Digestive juices help to make the food into simpler substances.

Incorrectly answered feedback

Digestive juices help to make the food into simpler substances.

Question 34

https://www.classmarker.com/a//tests/test/?test_id=1826724

Total mass of maat {g)
VR (R he start of the '
Afer 30 minubes
L i T
P 102 o2
] L iy
R 1) i 7

Jim conducied an experdment 1o find cul how tha size of food afectad how fast the food ie

oshod. Ha dmmaathﬂmﬁuﬂmm-upi.ﬁumdﬁ,nﬂmnm.ﬁn
ﬁﬂumﬁmmmmﬂmﬂamumrﬁsﬂ-mﬂ,mmmp{ﬂdlﬁl

meat inkg equal volume of digesfve juice X, a3 shown in tha dagram belaw,

This question is designed for extended answers that parent/ teacher will have to assign and guide child

Grading: This question type is not graded on this system and will not affect the final score as it was

Primary 6 Science » Primary 6 Science (Term 2)

0 pts
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i foed im
Jim conducied an experdment 1o find cul how tha size of food affnchod how fast e
diqusted. Hao placed soma meat inle each of the sel-ups, P, 0 and R, as shown balow, He
mmmmmmmmmﬂaMMpmrasﬁmﬂ,mmmﬂmlh&
maat inko equal voluma of digesfve juica X, as shiwn in tha dagram below,

digastive juics X

Aftar 30 mirnias, he recorded the resulis in tha kabis below.

Total mass of meat {g) |
e IR pre——
P 2 o2

L] 3
R = BE a I| Fi:! il

The graph below show kow the amount of undgestad tesd changes as it passes
through the parts of Jim's digestive system whan ba chews his food before swallowing.

i
Bmoued o

Lnhgerhed
fooa g~

e

| ——

Paris of

maulh pdlal shomach pmal e

nestires  nleslinas Bywiam

In v graph whivn, deaw Bow e amouet of undigested lood charges § Jim does rat
e balome swaliowrg. 1

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Sat 2nd Oct 2021
Last Modified: N/A
QID#: 29,206,578

Correctly answered feedback
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arme Fars af

Incorrectly answered feedback

Amoant of
food / A
L T
d
meuth  guiie

slamach amall Iama t! ﬂigaﬂ.‘{il.'a
inlestines  inteslines BYEAE)

Ame Bars af

Question 35

Accepted answers:

Arnant of
IJI'I.IjI-Eﬂm
food / .
B dovn | g
d
meuth gyl

slomach  amall large - digasiive
inlestings  inteslines SyE1Em

Primary 6 Science » Primary 6 Science (Term 2)

The diagram below shows a plant cell.

. nucleus

S

In which part of a plant are you most likely to find the cell above? (1 mark)

https://www.classmarker.com/a//tests/test/?test_id=1826724
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v Leaves

Question Type: Free Text

Date Added: Sat 2nd Oct 2021

Last Modified: N/A

QID#: 29,206,587

Question 36 Primary 6 Science » Primary 6 Science (Term 2) 0 pts

The diagram below shows a plant cell.

nucleus
3 5

State the function of part S. (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Sat 2nd Oct 2021
Last Modified: N/A
QID#: 29,206,591

Correctly answered feedback

Part S is a place where other cell parts take place.

Incorrectly answered feedback

Part S is a place where other cell parts take place.

Question 37 Primary 6 Science » Primary 6 Science (Term 2) 0 pts
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The diagram below shows a plant cell.

nucleus
5 S

Explain why part R cannot be found in an animal cell. (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Sat 2nd Oct 2021
Last Modified: N/A
QID#: 29,206,598

Correctly answered feedback

Part R is the chlorophyll and since animals cannot photosynthesise, part R cannot be found in an
animal cell.

Incorrectly answered feedback

Part R is the chlorophyll and since animals cannot photosynthesise, part R cannot be found in an
animal cell.

Question 38 Primary 6 Science » Primary 6 Science (Term 2) 2 pts
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Samety conducied an experimeant wher she healesd thees diffierent materials with the same
amount of hieat for 30 minules and recardad tha resulls in e abls as shown balow,

i Tempoeraturs {*C)
M.atorial Al tha start of the
Aftor
Aneant 30 minutes
P 28 a5
a H "
R 28 a0 _]

Sha then sel up analber expariment a5 shown in the diagrem below and placed It under the
st for ona hour,

once.)

Clue

Points: +1 =0

Points: +1 =0

Question Type:
Shuffle Mode:
Date Added:
Last Modified:
QID#:

salkasater al room lempershre

Sheet: Material

Tank: Material

Incorrect match option

Matching

Shuffle Matches Only
Sat 2nd Oct 2021
N/A

29,206,617

Question 39

Match

https://www.classmarker.com/a//tests/test/?test_id=1826724

In the blanks below, fill in the material, P, Q, or R, that she should use for each part of her setup so that
she can collect the most amount of pure water in the basin. (She can use the same material more than

Primary 6 Science » Primary 6 Science (Term 2)
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Samety conducied an experimeant wher she healesd thees diffierent materials with the same
amount of hieat for 30 minules and recardad tha resulls in e abls as shown balow,

i Tempoeraturs {*C)
M.atorial Al tha start of the
Aftor
Aneant 30 minutes
P 28 a5
a H "
R 28 a0 _]

Sha then sel up analber expariment a5 shown in the diagrem below and placed It under the
st for ona hour,

Question Type:
Date Added:
Last Modified:
QID#:

Essay

Sat 2nd Oct 2021
N/A

29,206,635

Correctly answered feedback

i) Reduce the width of the basin.

ii) Put ice on the sheet.

Incorrectly answered feedback

i) Reduce the width of the basin.

ii) Put ice on the sheet.

Question 40

https://www.classmarker.com/a//tests/test/?test_id=1826724

Suggest two other modifications to the set-up Sammy can make to collect more pure water in the basin
after six hours. (2 marks)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Primary 6 Science » Primary 6 Science (Term 2)
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John was standing in an air-condiianed room a5 shown in the diagram below.

Temparabure in tha room (20°C) temperature outsida (30°C)

| glass surfaco 1

slohn noticed that e were water droplets on the glass surfaca,

Explain how and where the water droplets were formed. (2 marks)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Sat 2nd Oct 2021
Last Modified: N/A
QID#: 29,206,649

Correctly answered feedback

When the water vapour from the surroundings outside the room came into contact with the cooler
glass surface, it lost heat to it and condensed to form water droplets.

Incorrectly answered feedback

When the water vapour from the surroundings outside the room came into contact with the cooler
glass surface, it lost heat to it and condensed to form water droplets.

Question 41 Primary 6 Science » Primary 6 Science (Term 2) 0 pts
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John was standing in an air-condiianed room a5 shown in the diagram below.

Temperbure in Tha room (20°C) temperatura oulsida (20°C)

| plass surface 1

slohn noticed that e were water droplets on the glass surfaca,

Jokn replacod ®e adgiced window Wik 8 daubls-glazed window al &h S
sihceamy ins the disgram balow ¥ B same makanial, as

Temparatues in the foom (20°0) ] lemnperalung gutside (30°0)

i ia-larec
"",,_"':- olass window
=1 hayerod gir
——— glass surfece §
glass surface 2

Explain why suface 1 of B ; )
dropiaks on [t a hi;rl ol 8 dosible-glazed window did sat have @s much wni[:;]r

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Sat 2nd Oct 2021
Last Modified: N/A
QID#: 29,206,676

Correctly answered feedback

As there is a layer of air in between glass surface 2 and, air will slow down heat loss from the glass
surface to the air in the room so the temperature of the glass surface is lower. Resulting in lesser
condensation and lesser water droplets are formed.

Incorrectly answered feedback

As there is a layer of air in between glass surface 2 and, air will slow down heat loss from the glass
surface to the air in the room so the temperature of the glass surface is lower. Resulting in lesser
condensation and lesser water droplets are formed.

Question 42 Primary 6 Science » Primary 6 Science (Term 2) 0 pts
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Xinyi is given tho following Nems.

P ]
N

o trar magnat & snal oy

& plasiic oy car

& poll af shcky g

Using only the given items above, state how Xinyi could make the toy car move forward without
pushing or pulling it. (2 marks)

Step 1:

Step 2:

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Sat 2nd Oct 2021
Last Modified: Sat 2nd Oct 2021
QID#: 29,206,742

Correctly answered feedback
She can use the sticky tape to tape the bar magnet on the front of the car. After that, bring the steel
rod close to the magnet and the car will move.

She can use the sticky tape to tape the steel rod on the front of the car. After that, bring the magnet
close to the rod and the car will move.

Incorrectly answered feedback
She can use the sticky tape to tape the bar magnet on the front of the car. After that, bring the steel
rod close to the magnet and the car will move.

She can use the sticky tape to tape the steel rod on the front of the car. After that, bring the magnet
close to the rod and the car will move.

Qu estion 43 Primary 6 Science » Primary 6 Science (Term 2) 0 pts

Xinyi is given tha fnﬂn;'.rmH Rems.

P ]
#
— {E::::n

o trar magnat & snal oy

1 plastic toy car

& podl af sticky Laps

What would be observed if a lighter toy car is used? (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.
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Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Sat 2nd Oct 2021
Last Modified: N/A
QID#: 29,206,766

Correctly answered feedback

The car would move faster.

Incorrectly answered feedback

The car would move faster.

Qu estion 44 Primary 6 Science » Primary 6 Science (Term 2)

Xinyi is given tha fnﬂn;'.rmH Rems.

P Q
C——

n bar magnat & stnal oy

& plastic oy car

& ol af sHicky ageE

Xinyi replaced the steel rod with another bar magnet.
What should Xinyi do in order to make the toy car move forward? (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Sat 2nd Oct 2021
Last Modified: N/A
QID#: 29,206,772

Correctly answered feedback

Xinyi should put a magnet's North pole facing out on the back of the car and then use the North
pole of the other magnet to repel it.

Incorrectly answered feedback

Xinyi should put a magnet's North pole facing out on the back of the car and then use the North
pole of the other magnet to repel it.

Qu estion 45 Primary 6 Science » Primary 6 Science (Term 2)
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Peter carrietd oul an exparlment in a park as shown in the dagram below.

In the diagram above, draw light rays to show how Peter is able to see the tree. (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Sat 2nd Oct 2021
Last Modified: N/A
QID#: 29,206,785

Correctly answered feedback

Incorrectly answered feedback
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Question 46

L
S

Primary 6 Science » Primary 6 Science (Term 2)

Pater carrisd oul an expariment in a park as shown in the dagram below.

to attempt after the test has been completed.

designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Sat 2nd Oct 2021
Last Modified: N/A
QID#: 29,206,803

Correctly answered feedback

Incorrectly answered feedback

https://www.classmarker.com/a//tests/test/?test_id=1826724

Explain how wearing a hat on a bright day helps to protect Peter's eyes. (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child

Grading: This question type is not graded on this system and will not affect the final score as it was

The hat would block most of the light from the sun from entering Peter's eye.

The hat would block most of the light from the sun from entering Peter's eye.

0 pts
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Question 47
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Primary 6 Science » Primary 6 Science (Term 2)

Pater carrisd oul an expariment in a park as shown in the dagram below.

Question Type:
Date Added:
Last Modified:
QID#:

Essay

Sat 2nd Oct 2021
N/A

29,206,813

Correctly answered feedback

It would become shorter and then it would get bigger.

Incorrectly answered feedback

It would become shorter and then it would get bigger.

Question 48

What will happen to the size of Peter's shadow as he moves towards the tree? (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Primary 6 Science » Primary 6 Science (Term 2)

Pater carrisd oul an expariment in a park as shown in the dlagram below.

https://www.classmarker.com/a//tests/test/?test_id=1826724

State two properties of light that caused the shadow to be formed. (1 mark)
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This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Sat 2nd Oct 2021
Last Modified: N/A
QID#: 29,206,824

Correctly answered feedback

i) Light travels in a straight line.

ii) Light can be blocked by objects.

Incorrectly answered feedback

i) Light travels in a straight line.

ii) Light can be blocked by objects.

Question 49

Yussri mada & loy as shown in the diagram bekw. He pumpesd 50 cm’ of air into the balloaq
uﬂmw-wdlﬁh dstarze moved by the loy over tha floor, o, was then measured,

Starfing position . Final positicn
tafoon
candhaan m
o em & floar

L]

uss] repaaled the sxpaiment by pumping dffesent amounls of ak inls tha ballsan. Tha
results of nis cxperiment and showm in the graph balow.

Distancs travellad [cm)

o
14}
120
100

Bl
=0
40
20

a

Amount of alr pumped
Inte ballson (om®)

50 TEHR 50 b

State the force that had caused the toy to stop moving at the final position.

Accepted answers:

v’ Frictional force

Question Type: Free Text

Date Added: Sat 2nd Oct 2021
Last Modified: N/A
QID#: 29,206,840

https://www.classmarker.com/a//tests/test/?test_id=1826724
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Question 50 Primary 6 Science » Primary 6 Science (Term 2) Opts
d belirw. Ha 50 cm? of air into the
Yusd mada & loy as shown in the disgram pmpﬂ.:t,ml]ﬂn '

and relensed i The distanss moved by the loy oves the floor,

Starfing posltion : Final positicn
bafpon
candhaan m
o em - floar

-

Yussi repaaled the expaiment by pumping difereni amounls of ak inls the balbon. Tha
results of his experiment ans shorm in The graph Balow.

Distanca travelled [cm)

o
14}
120
100

iiH
=0
40
2l

a

Amount of alr pumped
Inte baleon (om®)

50 TEHR 150 200

What is the relationship between the amount of air pumped into the balloon and the distance travelled
by the toy across the floor? (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Sat 2nd Oct 2021
Last Modified: N/A
QID#: 29,206,858

Correctly answered feedback

The larger the amount of air pumped into the balloon, the further the distance travelled by the toy
across the floor.

Incorrectly answered feedback

The larger the amount of air pumped into the balloon, the further the distance travelled by the toy
across the floor.

Question 51 Primary 6 Science » Primary 6 Science (Term 2) 0 pts
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Yussri mada & loy as shown in the diagram bekw. He pumpesd 50 cm’ of air into the balloaq
mﬂruﬁ-wdlﬁ.h dstarze moved by the loy over tha floor, o, was then measured,

Starfing position : Final positicn
bafoon
candhaan m
o em & floar

L]

uss] repaaled the sxpaiment by pumping dffesent amounls of ak inls tha ballsan. Tha
results of nis experimest ang showm in the graph balow.

Distancs travelled [cm)

o
14}
120
100

Bl
=0
40
20

p Amount of alr pumped

Inte ballson (om®)

50 TEHR 150 b

Suggest how Yusri could increase the reliability of his results. (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Sat 2nd Oct 2021
Last Modified: N/A
QID#: 29,206,866

Correctly answered feedback

Yusri could repeat the experiment 3 more times.

Incorrectly answered feedback

Yusri could repeat the experiment 3 more times.

Question 52 Primary 6 Science » Primary 6 Science (Term 2) 0 pts
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Yistri mada & loy s shown in the diagram bekrw, He pumped 50 cm of air into the balloan
uﬂrﬂwﬂdlﬁh dstarze moved by the loy over tha floor, o, was then measured,

Starfing position ’ Final position
bafoon
candhaan m
o em & Noar

L]

uss] repaaled the sxpaiment by pumping dffesent amounls of ak inls tha ballsan. Tha
results of nts experimest and shom in the graph balow.

Distancs travelled [cm)

0
14}
120
100

Bl
=0
40
20

p Amount of alr pumped

Inte ballson (om®)

50 TEHR 50 b

{hen repesled his sdpariment by placing tha toy af the baflam ’
musmmu " OF 2 ramp wilh & simitar

.--—""""_F.-F'

“-’—‘_,.-/"'—'_.“ d-EI
parbeand
mmmﬂﬂﬂgggﬂpﬂdmm&m.mﬂhhﬁmmuﬂg sharier,

longar, of sama distance on the mmp (han on tha foorT Explain your answer in tamms
of fareas. (5]

Boor

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Sat 2nd Oct 2021
Last Modified: N/A
QID#: 29,206,884

Correctly answered feedback

When 200cm? of air was pumped into the balloon, the toy would travel a shorter distance on the
ramp than on the floor. When it is travelling up the ramp, more force is required to push it up the
ramp as it is going against gravity, making it harder to move upwards. So it would travel a shorter

distance.

Incorrectly answered feedback

When 200cm? of air was pumped into the balloon, the toy would travel a shorter distance on the
ramp than on the floor. When it is travelling up the ramp, more force is required to push it up the
ramp as it is going against gravity, making it harder to move upwards. So it would travel a shorter

distance.
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Qu estion 53 Primary 6 Science » Primary 6 Science (Term 2) 0 pts

Mary used a dmpper to ke in lguid X om a beaker &5 shown in the set-up balgw,
wﬁﬂm Ihe nubiber handie of the drpper and then released it again o take in hmx'ﬂ:
1ha beakar.

Explain how thess aclions eratied soma of liquidl b endar tha glass tube of tha dropper.
|

i) Squeezing the rubber handle:

ii) Releasing the rubber handle:

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Sat 2nd Oct 2021
Last Modified: N/A
QID#: 29,206,890

Correctly answered feedback

i) Removing the air from the glass tube.

if) Making liquid X enter the glass tube to occupy the space previously occupied by the air.

Incorrectly answered feedback

i) Removing the air from the glass tube.

if) Making liquid X enter the glass tube to occupy the space previously occupied by the air.
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Juinw eroated A toy using & bottle cag, ice-cream slicks and rubber bands as shown
In The disgram bealow.

btk cmp aittached
o i glick

rubber bands

She placed & paper ball in the bolths cap, pshed the balllz cap downrwands and raleased the
ot cap which lunched the paper ball through the s

Sher fan mada 3 ot simiar bys using Gifercnt number of ice-craam s5cks to maka pan X
and repaated the papedmant. Her results arg shown in the table balow.

Husnbor of ice-cream silcks used to 3| & a i2
ks part X - s
Distance mdved by the paper ball{em) | 2 q | iz | 22

State the form of energy that the rubber bands possessed when the bottle cap was pushed down.

Accepted answers:

¥’ Elastic potential energy

Question Type: Free Text

Date Added: Sat 2nd Oct 2021
Last Modified: N/A
QID#: 29,206,895

Question 55
Judme created & toy using & bottie cap, ice-cream sticks and rubber bands zo shown
In the disgram beloe.

btk cap aittnched
o i glick

rubber bands

Shiz placed & paper ball in the bokle cap, pashed the batlle cap downwards and rleased the
it cap which lsunched the paper ball ihoough the wr.

Sher fan mada 3 othor simiar kys using Efferent number of fce-cream sicks lo maka pan X
and repasted the sapedmant. Her sesulls arg shown in the table bk,

Kumbaer of ice-cream stlcks used bo ] ] ] 12
ks p.ll.rt.l ! e
Distance moved by the paper balljem) | 2 q | iz | 22

State the relationship between the number of ice-cream sticks used to make part X and the distance
moved by the paper ball. (1 mark)
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This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Sat 2nd Oct 2021
Last Modified: N/A
QID#: 29,206,902

Correctly answered feedback

The more the number of ice cream sticks used to make part X, the further the distance moved by
the paper ball.

Incorrectly answered feedback

The more the number of ice cream sticks used to make part X, the further the distance moved by
the paper ball.

Question 56 Primary 6 Science » Primary 6 Science (Term 2) 0 pts

Juinw eroated A toy using & bottle cag, ice-cream slicks and rubber bands as shown
In The disgram bealow.

btk cmp aittached
io T slick

Em@dapapﬂ'h}dlhiﬁubﬁlﬁﬂ!h. pushied the bolllz cap dewnwands and mlsassd ths
bt cap which 1aunched the paper ball hrough e el

Shia e mada 3 othor simitar Sy using dfferon number of Ica-ceeam sk lo make pan X
and repaated the papedmant. Her results arg shown in the table balow.

Rumber of ice-cream siicks used to 3 | & I 4 | i3
_malks part X = - e
Distance frred by the paper ball {em) F] q | i | 2

Explain why it is important for her to use ice cream sticks of the same thickness for each toy. (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Sat 2nd Oct 2021
Last Modified: N/A
QID#: 29,206,909

Correctly answered feedback
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To ensure that the only changed variable is the number of ice cream sticks so the results are a fair
test.

Incorrectly answered feedback

To ensure that the only changed variable is the number of ice cream sticks so the results are a fair
test.

Question 57 Primary 6 Science » Primary 6 Science (Term 2) 0 pts

Hidil carried & heavy backpack and skaled down & ramp without pushing off. He
noticed that when he reached point X, there was a slight parse belore his skateboaard
rolked backwards.

T
W
W
Siaie fha ma|nﬂmfww|ﬁjrt5 [rom modnt v o poEnl X i.l-l
[Aidil rpdlimg past {Alddil pausing at
[Aldil &l ol ) paint W point X)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Sat 2nd Oct 2021
Last Modified: N/A
QID#: 29,206,935

Correctly answered feedback

Gravitational potential energy ------ > Kinetic energy ------- > Gravitational potential energy

Incorrectly answered feedback

Gravitational potential energy ------ > Kinetic energy ------- > Gravitational potential energy
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Question 58 Primary 6 Science » Primary 6 Science (Term 2) O pts

Aidil carried a heavy backpack and skaled down a ramp without pushing off, Hae

noticed that when he reached point X, there was a slight parse belore his skateboard
ralked backwards.

W

Explain why he still could not reach point Y. (2 marks)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Sat 2nd Oct 2021
Last Modified: N/A
QID#: 29,206,953

Correctly answered feedback

When he was moving down the ramp, some of the kinetic energy was converted to heat and sound
energy, so not 100% of it was converted to kinetic energy so it could not reach point Y.

Incorrectly answered feedback

When he was moving down the ramp, some of the kinetic energy was converted to heat and sound
energy, so not 100% of it was converted to kinetic energy so it could not reach point Y.

Qu estion 59 Primary 6 Science » Primary 6 Science (Term 2) 0 pts
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Aidil carried a heavy backpack and skaled down a ramp without pushing off, He
naticed that wiven he reached point X, there was a slight pause before his skateboard
rolked backwards.

W

Without using a lubricant, suggest one change that will allow him to reach point Y. (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Sat 2nd Oct 2021
Last Modified: N/A
QID#: 29,206,961

Correctly answered feedback

He could push it off at point V.

Incorrectly answered feedback

He could push it off at point V.

Question 60 Primary 6 Science » Primary 6 Science (Term 2) Opts

The diagram below shows paris of a torch.

metal contact
swilch .

metal contaet

Draw a circuit diagram to represent the electrical circuit in the torch above. (2 marks)
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This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Sat 2nd Oct 2021
Last Modified: N/A
QID#: 29,206,976

Correctly answered feedback

|
{

Incorrectly answered feedback

1
£]

——

Question 61 Primary 6 Science » Primary 6 Science (Term 2) 0 pts

https://www.classmarker.com/a//tests/test/?test_id=1826724 52/53


https://www.classmarker.com/a/tests/qb/manage/?test_id=1826724&question_id=29206976
https://www.classmarker.com/a/tests/qb/manage/?test_id=1826724&question_id=29206976&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1826724
https://0cm.classmarker.com/10070943_7SMBEV9P.jpg

10/31/21, 1:26 PM ClassMarker - Manage Test

The diagram below shows parts of a torch.

metal contact

bulb

Y Ethan bought the larch, a small plastic 2inp was paced between tha malal contacts of
the muilch =% shoam in tha diagram below:,

nislc siip

Explain why Ethan Nad fe ramonve he plastic siig balone he could swilch an e fonch,
(&}

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Sat 2nd Oct 2021
Last Modified: N/A
QID#: 29,206,991

Correctly answered feedback

As the plastic strip is an insulator of electricity, electricity cannot flow through the circuit as there is
an open circuit. Thus he had to remove it before he could switch on the torch.

Incorrectly answered feedback

As the plastic strip is an insulator of electricity, electricity cannot flow through the circuit as there is
an open circuit. Thus he had to remove it before he could switch on the torch.
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